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(A) Define the terms with examples . [08]

{1) Union & Intersection of two sets

(2) Complement of a set

(3) Subset

(4) Differencetwosets . _ ._ : R
(5) Nuli set. '

(=) 35 4 5 , [09]
If A= and B=1} - then verify -~
1 2 3 4 _

(1) (AB)T = B'AT
(2)(A+B)=A"+B'

(B AN =A | )
(4) BN =8B ‘
. ‘ OR
(A) IfA={1 3} B={5 6} and C = {6, 9} then verify , [o8]

(1) A x (BN C) = (AxB) N(AxC)
(2) A x (BUC) = (AxB) U {(AxC)

{B) Solve the following equations using Cramer’s rule. [09]
1,3 4 3.4
x Yy X oy
(A) Evaluate : ' [09]
(1) lim «/x+3—\/§
¥X—>2 Ax+5- ﬁ
lim x' =27
(1) ;
x—=>3 x -9
(B) Find the equation of the line passing through the points A(x4, y1) and B(xz, y2). {09]
OR ' '
(A) Find dyfdx if \ | - | [09]
(MNy=4-3C+x-8
xP—4x+3.
2) y=———""
@) x'—5x+6

(3) Y= logx -5

(B} What is an aggregate amount for Rs. 4000 after 3 years at 12% rate of compound [09]
interest if the interest is compounded (1) Annually (2) Semi Annually.
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Use graphical method to solve the following LPP.

Max Z = 3x4+5x,
s.t.
3xy + 2%y < 18,
X124, X 26, %, % >0

Solve the following Assignment problem.

P Q R S
A 12 15 18 8
B 13 10 9 14
C 10 12 15 13
D 7 8 9 14
OR

"-":F“[;ag'bopuléi’iion of a c[tyiat pres-ér']t is ”497'794'9_\_}Jhic-:h'7\)\}é7re 5_5'49'-{_3-before 7 yEéré. Find' '
out the rate of growth of population.

Solve the following Assignment problem.

I Il 1l Y
A 0 7 14 21
B 0 5 10 15
C 0 5 10 15
D 0 4 8 12

Find the maximum and minimum values of the function f(x) = x* — 3x + 4.

What is meant by maximum and minimum value of a function? Write necessary and
sufficient condition for a function to be maximum or minimum?

Solve the following equations by using inverse matrix

3X-2y+z = 2,

Write thé rules of determinant.

OR

X+3y-2z = 2, 2x-y+z=2

(2)
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of 2ol WEl Belal 21[Ba NI,
(1) G 1. Hi2 Mol 2Ha Searel

()  Wwsawl
(_39_ Ggaigl L e IO R
(v) vidla

(u)  dlaeldl aglda

3 5 4. 5
q A = L 2})@3 = [3 _J@acﬂusmﬂ%

(1) (AB)T=BTAT
() (A+B)T=AT+BT
(3) (A=A

-

. (¥) (B")=B

Y|

%1 A={1, 3}, B={5,6} »tal C={6, 9} & il 2uifbict 5213
(4) Ax (BNC) = (AxB) M (AxC)
(2) A x {BUC) = (AxB) U (AxC)

oflAail 213{1s2010 T4 1A BSA) :

7,3, 3.4
x oy Xy
oflRAatioll (BHa 2.

¥ )lim Jx+3-45

1 x—32 w!x+5—\/:f'v
' lim  x*-27

]

( )x—>3 x1-9

[BigM A(x,,y,) 210l B(x,,y,) atiell vt excﬂ' ullef 215201 2NEN,

A2Ud|

dy/dx Aad).

(1) y=4x4-3x?+x-8

Cxt—4x+3
¥’ —5x+6

(3} y=Ilogx-5

(2)y

3)
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Max Z = 3x,+5x,
s.1. ]
3x1+ 2% < 18,
X154, %<6, x,%>0

ysal-3 (o) ofRlatl sif-aduRfoll MY 3. o [09]
P Q R S
A 12 15 18§ "
B 13 10 9 14
C 10 12 15 13
D 7 8 9 14
{8

Yol-3 (1) A8 uBell sldoll ddl we,cve 8. 21d of 24216 A Al dodl 3u,vce  [08]
adl. @it 21826ll dadl airiel €2 M.

Wal-3 (@) ofldoll siRI-agueell Usa G3d. [09]
3 I 1 \%
A 0 7 14 . 21
B 0 5 10 15
C 0 5 10 15
D 0 4 ) 12

M2l () A f(X)=x3-3x+4 @14 o) Rudlaioll dec A0l oxjolad Baid Do, [09]

wrol-w (of)  [Q8R1ell e viol oyottial Bad) MAed 22 HedH zaai crq\mrm Buc) (09
Hizoll 33 2Aal YaTH 2R w4,

Ao : :
ural-w () ofRlet) 2allseeNol curd ANselt seeel] 63d) [09]
3X-2y+z=2, x+3y-2z=2 2x-y+z=2
Yot (1) [or=ai2isoll [brid) cul), | - fog]
—_—




